

**SOME SUBCLASSES OF HARMONIC
UNIVALENT FUNCTIONS**
Gülşen TOKAT

Abstract: In the second part of this paper, we define H_k classes of all harmonic functions in $U = \{z : |z| < 1\}$, $f(z) = z + \sum_2^\infty a_n z^n + \sum_1^\infty a_{-n} \bar{z}^n$ such that $\sum_2^\infty n^k (|a_n| + |a_{-n}|) \leq 1 - |a_{-1}|$, ($k \in \mathbb{Z}^+$, $|a_{-1}| < 1$). We also give some theorems on neighborhoods of these classes, distortion theorems, namely, a covering theorem and a theorem on the uniform convergency of a sequence in H_2 . In the third part, we give a characterization of locally univalent harmonic functions and univalent harmonic functions in $U = \{z : |z| < 1\}$ by the Hadamard product. Moreover, we prove that two subclasses of close-to-convex functions class are invariant under Hadamard product.

1. INTRODUCTION.

Clunie and Sheil-Small [2] studied the class S_H of all complex harmonic, sense preserving, univalent functions in $U = \{z : |z| < 1\}$, which are normalized by $f(0) = 0$ and $f_z(0) = 1$. These functions can be written as

$$f(z) = h(z) + \bar{g}(z) = z + \sum_2^\infty a_n z^n + \sum_1^\infty a_{-n} \bar{z}^n \quad (|a_{-1}| < 1) \quad (1.1)$$

where h, g are analytic in U . S_H^0 is the subclass of S_H with $a_{-1} = 0$. The class of all functions $f(z)$ in (1.1) which satisfy the inequality

$\sum_2^\infty n (|a_n| + |a_{-n}|) \leq 1 - |a_{-1}|$, is denoted by HS and the class of all functions $f(z)$ in (1.1), which satisfy $\sum_2^\infty n^2 (|a_n| + |a_{-n}|) \leq 1 - |a_{-1}|$, is denoted by HC .

The corresponding subclasses of HS and HC with $a_{-1} = 0$ are HS^0 and HC^0 , respectively. The neighborhood of a harmonic function $f(z)$, which has the Taylor series (1.1), consists of harmonic functions $F(z) = z + \sum_2^\infty A_n z^n + \sum_1^\infty A_{-n} \bar{z}^n$ such that $\sum_2^\infty (|a_n - A_n| + |a_{-n} - A_{-n}|) + |a_{-1} - A_{-1}| \leq \delta$ and is denoted $N_\delta(f)$.

We shall denote by H_k , the classes of all functions of the form (1.1) that satisfy

$$\sum_2^\infty n^k (|a_n| + |a_{-n}|) \leq 1 - |a_{-1}| \quad (k \in \mathbb{Z}^+).$$

Proof: Let $f(z) \in H_k$ and $F(z) = z + \sum_2^{\infty} A_n z^n + \sum_1^{\infty} A_{-n} \bar{z}^n \in N_{\delta}(f)$ for $\delta \leq \frac{k-1}{k}(1 - |a_{-1}|)$. Applying the definition of H_1 to $F(z)$ and using the definition of neighborhood, we obtain

$$\begin{aligned} & |A_{-1}| + \sum_2^{\infty} n(|A_n| + |A_{-n}|) \leq |A_{-1} - a_{-1}| \\ & + \sum_2^{\infty} n(|A_n - a_n| + |A_{-n} - a_{-n}|) + |a_{-1}| + \sum_2^{\infty} n(|a_n| + |a_{-n}|) \\ & \leq \delta + |a_{-1}| + \sum_2^{\infty} n(|a_n| + |a_{-n}|) \leq \delta + |a_{-1}| + \frac{1}{k} \sum_2^{\infty} n^k (|a_n| + |a_{-n}|) \\ & \leq \frac{k-1}{k}(1 - |a_{-1}|) + |a_{-1}| + \frac{(1 - |a_{-1}|)}{k} = 1. \end{aligned}$$

Theorem 2.4. If $f(z) \in H_k^u$, then $|f(z)|$ is an increasing function with respect to $|z| = r$.

Proof: In order to show that $|f(z)|$ is an increasing function with respect to $|z| = r$, it suffices to prove that $\log |f(z)|$ is an increasing with respect to $|z| = r$ or $\frac{\partial}{\partial r} \log |f(re^{i\theta})| = \operatorname{Re} \frac{\partial}{\partial r} \log f(re^{i\theta}) > 0$.

$$\begin{aligned} \frac{\partial}{\partial r} \log |f(re^{i\theta})| &= \operatorname{Re} \frac{\partial}{\partial r} \log \left(re^{i\theta} + \sum_2^{\infty} (a_n r^n e^{in\theta} + a_{-n} r^n e^{-in\theta}) \right) \\ &= \frac{1}{r} \operatorname{Re} \left[1 + \frac{\sum_2^{\infty} (n-1)(a_n r^{n-1} e^{in\theta} + a_{-n} r^{n-1} e^{-in\theta})}{e^{i\theta} + \sum_2^{\infty} (a_n r^{n-1} e^{in\theta} + a_{-n} r^{n-1} e^{-in\theta})} \right] \\ &= \frac{1}{rA} \operatorname{Re} \left[|e^{i\theta} + \sum_2^{\infty} r^{n-1} (a_n e^{in\theta} + a_{-n} e^{-in\theta})|^2 + \right. \\ & \quad \left. + \sum_2^{\infty} (n-1)r^{n-1} (a_n e^{in\theta} + a_{-n} e^{-in\theta}) \overline{(e^{i\theta} + \sum_2^{\infty} r^{n-1} (a_n e^{in\theta} + a_{-n} e^{-in\theta}))} \right] \\ &= \frac{1}{rA} \left\{ |e^{i\theta} + \sum_2^{\infty} r^{n-1} (a_n e^{in\theta} + a_{-n} e^{-in\theta})|^2 + \frac{1}{2} \sum_2^{\infty} (n-1)r^{n-1} |a_n e^{in\theta} + a_{-n} e^{-in\theta}|^2 \right. \\ & \quad \left. - \frac{1}{4} \left| \sum_2^{\infty} (n-1)r^{n-1} (a_n e^{in\theta} + a_{-n} e^{-in\theta}) \right|^2 \right\} \quad (2.3) \end{aligned}$$

where

$$A = |e^{i\theta} + \sum_2^{\infty} (a_n r^{n-1} e^{in\theta} + a_{-n} r^{n-1} e^{-in\theta})|^2 > 0.$$

Thus,

$$\begin{aligned} & |e^{i\theta} + \frac{1}{2} \sum_2^{\infty} (n+1)r^{n-1}(a_n e^{in\theta} + a_{-n} e^{-in\theta})| \\ & - \frac{1}{2} | \sum_2^{\infty} (n-1)r^{n-1}(a_n e^{in\theta} + a_{-n} e^{-in\theta}) | \\ & \geq 1 - \frac{1}{2} \sum_2^{\infty} (n+1)r^{n-1}(|a_n| + |a_{-n}|) - \frac{1}{2} \sum_2^{\infty} (n-1)r^{n-1}(|a_n| + |a_{-n}|) \\ & = 1 - \sum_2^{\infty} n r^{n-1} (|a_n| + |a_{-n}|) \\ & \geq 1 - \sum_2^{\infty} n (|a_n| + |a_{-n}|) > 1 - \sum_2^{\infty} n^k (|a_n| + |a_{-n}|) \geq 0. \end{aligned}$$

This proves that $\frac{\partial}{\partial r} \log |f(re^{i\theta})| > 0$.

Theorem 2.5. If the sequence $\{f_n(z)\} = \{h_n(z) + \bar{g}_n(z)\} \subset H_2$ converges to harmonic function $f(z) = h(z) + \bar{g}(z)$ on uniformly convergence topology, then the sequences $\{h_n(z)\}$ and $\{g_n(z)\}$ converge respectively to $h(z)$ and $g(z)$ on the same topology.

Proof: Since $f_n \in H_2$ for each $n \in \mathbb{N}$, the sequence $\{h_n(z)\}$ is uniformly bounded. Therefore we may select an uniformly convergent subsequence $\{h_{n_k}(z)\}$. Consider the subsequence $\{g_{n_k}(z)\}$. Again, we may select the uniformly convergent subsequence $\{g_{n_{k_l}}(z)\}$. Now, we suppose that $\{h_{n_k}(z)\}$ converges uniformly on compact subsets to $s(z)$ and $\{g_{n_{k_l}}(z)\}$ converges uniformly on compact subsets to $t(z)$. Because of uniformly convergence of $\{h_{n_k}(z)\}$, each subsequences $\{h_{n_{k_l}}(z)\} \subset \{h_{n_k}(z)\}$ converges uniformly to $s(z)$, too. Hence $\{f_{n_{k_l}}(z)\} = \{h_{n_{k_l}}(z)\} + \{\bar{g}_{n_{k_l}}(z)\}$ converges uniformly on compact subsets to $r(z) = s(z) + \bar{t}(z)$. Since $\{f_n(z)\}$ converges uniformly on compact subsets to $f(z) = h(z) + \bar{g}(z)$, $f(z) = r(z)$. Thus, we get $a_n = b_n$, $a_{-n} = b_{-n}$ and $t(z) = g(z)$, $s(z) = h(z)$ by the Taylor series of $f(z)$ and $r(z)$

$$f(z) = h(z) + \bar{g}(z) = z + \sum_2^{\infty} a_n z^n + \sum_1^{\infty} a_{-n} \bar{z}^n$$

and

$$r(z) = s(z) + \bar{t}(z) = z + \sum_2^{\infty} b_n z^n + \sum_1^{\infty} b_{-n} \bar{z}^n$$

This result is satisfied all uniformly convergent subsequences of $\{h_n(z)\}$ and $\{g_n(z)\}$. Therefore, $\{h_n(z)\}$ converges uniformly on compact subsets to $h(z)$ and $\{g_n(z)\}$ converges uniformly on compact subsets to $g(z)$.

3. HADAMARD PRODUCT ON HARMONIC UNIVALENT FUNCTIONS

Theorem 3.1. A harmonic function

$$f(z) = z + \sum_2^{\infty} a_n z^n + \sum_1^{\infty} a_{-n} \bar{z}^n \quad (|a_{-1}| < 1, \quad |z| < 1) \quad (3.1)$$

belongs to HLu iff

$$(f * k)(z) \neq 0 \quad \text{for} \quad (0 < |z| < 1) \quad (3.2)$$

$k(z)$ is defined as

$$k(z) = \frac{z}{(1-z)^2} + \varepsilon \frac{\bar{z}}{(1-\bar{z})^2}, \quad (|\varepsilon| \leq 1, \quad |z| < 1). \quad (3.3)$$

Proof: Let $f \in HLu$. By the definition of HLu , $|f_{\bar{z}}| < |f_z|$ for all $z \in U$ and $|f_z| \neq 0$. Therefore, the inequalities

$$\begin{aligned} |(f * k)(z)| &= |zf_z + \varepsilon \bar{z} f_{\bar{z}}| = |z| |f_z| \left| 1 + \varepsilon \frac{\bar{z} f_{\bar{z}}}{z f_z} \right| \\ &\geq |z| |f_z| \left[1 - |\varepsilon| \frac{|f_{\bar{z}}|}{|f_z|} \right] \\ &> |z| |f_z| (1 - |\varepsilon|) \geq 0 \end{aligned}$$

are satisfied. Thus, we obtain for $(0 < |z| < 1)$ $(f * k)(z) \neq 0$. For the converse, let $(f * k)(z) \neq 0$ for all z $(0 < |z| < 1)$. Therefore, the inequalities

$$\begin{aligned} zf_z + \varepsilon \bar{z} f_{\bar{z}} &\neq 0, \\ zf_z &\neq -\varepsilon \bar{z} f_{\bar{z}} \end{aligned} \quad (3.4)$$

are satisfied. We shall investigate the last inequality in two different cases:

i) For every z $(0 < |z| < 1)$ which satisfy $f_{\bar{z}}(z) = 0$, (4) becomes $f_z(z) \neq 0$. Thus, the inequality $|f_{\bar{z}}(z)| < |f_z(z)|$ is obtained and this means that $f(z)$ is locally univalent at these points.

ii) Let $f_{\bar{z}}(z) \neq 0$ for some z ($0 < |z| < 1$). Since (4) is satisfied for each ε ($|\varepsilon| \leq 1$) and for these points,

$$|f_z(z)| > |f_{\bar{z}}(z)|$$

is obtained. Thus $f(z)$ is locally univalent at these points, too. Moreover, $|f_z(0)| = |a_{-1}| < |f_z(0)| = 1$ is right by hypothesis. Thus, $f \in HLu$.

Theorem 3.2. Let $f = h + \bar{g} \in HLu$. If

$$(f * k_\varepsilon)(z) \neq 0 \quad 0 < |z| < 1 \quad (3.5)$$

where $k_\varepsilon = k_0 + \varepsilon \bar{k}_0$ ($|\varepsilon| \leq 1$) and

$$k_0(z) = \frac{z}{(1-xz)(1-yz)} \quad |x| \leq 1, |y| \leq 1, x \neq y$$

then $f \in S_H$.

Proof: For $0 < |z| < 1$

$$(f * k_\varepsilon)(z) = \frac{1}{x-y} \{ [h(xz) - h(yz)] + \varepsilon [\bar{g}(xz) - \bar{g}(yz)] \} \neq 0. \quad (3.6)$$

We consider two cases:

i) For all x and y which satisfy the equation $\bar{g}(xz) - \bar{g}(yz) = 0$ and the conditions $|x| \leq 1, |y| \leq 1$, from (3.6),

$$f(xz) - f(yz) = h(xz) - h(yz) \neq 0.$$

ii) For all x and y which satisfy the relation $\bar{g}(xz) - \bar{g}(yz) \neq 0$ and the conditions $|x| \leq 1, |y| \leq 1$, (3.6) becomes

$$\frac{h(xz) - h(yz)}{\bar{g}(xz) - \bar{g}(yz)} \neq -\varepsilon \quad \text{for each } \varepsilon \text{ } (|\varepsilon| \leq 1)$$

after that, the inequality

$$\frac{|h(xz) - h(yz)|}{|g(xz) - g(yz)|} > 1$$

is satisfied. Therefore,

$$|f(xz) - f(yz)| \geq |h(xz) - h(yz)| - |g(xz) - g(yz)| > 0$$

that is $f(xz) \neq f(yz)$ for these points. Thus, $f(z)$ is a univalent harmonic function in U .

Theorem 3.3. $f(z) = h(z) + \bar{g}(z) \in C_H$ has properties $|g'(0)| < |h'(0)|$ and $h + \varepsilon g \in C$ for all ε ($|\varepsilon| = 1$). For an analytic convex function $\varphi(z)$, the function

$$(\varphi + \alpha\bar{\varphi})(z) * f(z) \quad |\alpha| = 1 \quad (3.7)$$

is a close-to-convex function which satisfies properties of $f(z)$.

Proof : Let $F(z) = H(z) + \bar{G}(z) = (\varphi + \alpha\bar{\varphi})(z) * f(z) (\varphi * h)(z) + \overline{\alpha(\varphi * g)}(z)$. We apply the conditions of Theorem C to $F(z)$:

i) $f(z) = z + \sum_2^\infty a_n z^n + \sum_1^\infty a_{-n} z^{-n}$ and $\varphi(z) = z + \sum_2^\infty A_n z^n$. Then,

$$|G'(0)| = |\alpha a_{-1}| < |\alpha| = |H'(0)|$$

ii) $H(z) + \varepsilon G(z) = \varphi * (h + \varepsilon\bar{\alpha}g)(z)$ is a close-to-convex function because of hypothesis of theorem and Theorem B. As result, $F \in C_H$ by the Theorem C.

Theorem 3.4. Let $f(z) = h(z) + \bar{g}(z) \in C_H$ such that $h + \varepsilon g \in K$ for some ε , ($|\varepsilon| \leq 1$) and $\varphi \in K$. Then the function

$$(2\text{Re}\varphi * f)(z) \quad (3.8)$$

is a close-to-convex harmonic function and has property of $f(z)$.

Proof : Let $F(z) = H(z) + \bar{G}(z) = (2\text{Re}\varphi * f)(z) = (\varphi * h)(z) + \overline{(\varphi * g)}(z)$. Applying the condition of Theorem D, we obtain that the function $(H + \varepsilon G)(z) = (\varphi * (h + \varepsilon g))(z)$ is a convex function by the hypothesis of theorem and Polya-Schoenberg Conjecture. Thus, $F \in C_H$.

REFERENCES

- [1] Avci, Y., Zlotkiewicz E. On harmonic univalent mappings, Ann. Univ. Mariae Curie-Skoldowska Vol. XLIV (1990), 1-7.
- [2] Clunie J., Sheil-Small T., Harmonic univalent functions, Ann. Acad.Sci.Fenn. A.I. Mathematica, 9, (1984), 3-25.
- [3] Ruscheweyh St., Neighborhoods of univalent functions, 81, (1981), 521-527.
- [4] Ruscheweyh St., Sheil-Small T., Hadamard products of schlicht functions and the Polya-Schoenberg Conjecture, Comm. Math.Helv. 48, (1973), 119-135.
- [5] Silverman H., Silvia E.M. and Teiage D., Convolution condition for convexity, starlikeness and sprallikeness, Math.Z., 162 (1978) 125-130.

- [6] Stankiewicz J., Stankiewicz Z., Some classes of regular functions defined by convolution, Lec.Notes in Math. 1039, (p.400-408).

Istanbul Technical University
Department of Mathematics
Maslak 80626. İstanbul-Turkey
tokat@itu.edu.tr